Solve the following triangles. Sketch and label triangles with vour final answers, SCORE: /12 PTS
If no such triangle exists, write “DNE”, If more than one triangle is possible, solve for all possible triangles.
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[a] AUVW ifm=76,5=91, M =56.6" and H =34.8°

L (7.6)(R)) s 348° = ]9

-[b] ARPG if r=9, p=4 and g=7 .
s= L (a-4.7D=10 [1000-DO0~DHUO-T) =

Suppose that £k =12 and T =26°. SCORE: /6 PTS "
[a] Find all values of £ for which there is exactly one possible triangle. Do NOT solve the triangle,
o — i
£=12:5m 26" =53 ;
[b] Find all values of ¢ for which there are two possible triangles. Do NOT solve the triﬁngles. —
SBat<)2
[c] Find all values of ¢ for which there are no possible triangles. -
<53
Find the areas of the following triangles, SCORE: /4 PTS
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A flagpole at a right angle to the horizontal is located on a slope that makes an angle of 9° with the horizontal.

SCORE: /8 PTS

The flagpole’s shadow is 21 feet long and points directly down the slope when the angle of elevation from the tip of the shadow to the sun

is 27° . Find the height of the flagpole.
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